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Instructions regarding filling of OMR Sheet are | =
PRI NIQE mentioned on the OMR Sheet only.
ym P I a The duration of the exam s 12 Hours. @ Udlen 3fafd 11, que &l i
The Question Booklet consists of 100 Questions, | & gauﬂa]gﬁﬂaﬂﬁ 100 U 2 de11 U U2 4 3ihl &I
each with 4 Marks. The maximum Marks are 2 | iftra 3id 400 E |
400.
Subject-wise division of 100 Questions are as| = el 100 Ui ®I WA fddeul 5 UM 3 : a1fUrd-35,

follows: Maths-35, Science-35, S.St.-10,
English-10, MAT-10.

fasTH-35, AMIfIB ieRMA-10, 3iai-10 31 aFfaD
TloTd wleiur-10 e |

&  Candidates will be awarded 4 Marks for the | &
indicated correct response to each question.

URAD U2 &l J8) 3ue GoIf W 4 31 UGH fiha siat |

@  One mark will be deducted for the incorrect| =  dleld 3de c2If< U= ufd U2 1 3ich el SIRIN |

response to each question.

&  Space for rough work is also provided in the | Uﬁﬂlqﬁﬂﬂﬂﬁwmi\ﬁﬁwlﬂmﬁmaﬁﬂﬁ

Question Booklet. 2

—  "MATHS }—+«————

I , .
01. In the given figure ABCD & AEFG are squares. Then | 01. <1 72 3Tpfa §# ABCD & AEFG o & dl feforfd #

which of the following is to true. | I PIET 9 & |
I
E | E
A B : A B
F | F
G | G
I
D c I D c
, GF _4cC ) CE_AF | GF _ AC ) CE_AF
()AG AD )AG DG | ()AG AD ()AG DG
AF  AG | AF  AG . .
3) R = E (4) None of these l 3) R = E (4) 379 & ®Ig T8
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 1
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02.

03.

04.

05.

06.

07.

08.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The largest number that divides 70 and 125, which leaves
the remainders 5 and 8, is:

(1) 65 )15

3)13 425

The least number that is divisible by all the numbers
from 1 to 5 is:

(170 (2) 60

(3)80 4)90

The sum of two irrational numbers is always

(1) rational

(2) irrational

(3) rational or irrational

(4) not determined

For some integer m, every even integer is of the form
(1) m (2)m+1

(3) 2m $2m+1

Ifthe HCF of 65 and 117 is expressible in the form 65m
- 117, then the value of m is
(1) 4

31

If the roots of the equation

Q)2
43

(a— b) x’ +(b —c)x+ (c —a) =0 are equal, then

(1) 2b=a+c (2) 2a=b+c

(3) 2c=a+b (4) None of these

The hypotenuse of a right angle triangle is 3\/5 cm. if

smallest side is tripled and larger side is doubled, the
new hypotenuse will be 15 cm, find the length of larger

| 02. T e ! GT 99 70 3iR 125 &1 faufoa &<

03.

04.

05.

06.

07.

08.

TR 5 T8 AYHA FoIdl 3 |

(1) 65 ()15

(3) 13 4)25

I8 e OIS W1 S 1 ¥ 5 db qad i g

(1) 70 (2) 60

(3) 80 (4) 90

ST 3MR¥Y RN BT ART [T BT |

(1) 9RAF

(2) MRy

(3) uR%T T raRey

4) feiRa =gt

fredt guis m @ forw uxs a9 qorfes g1 |
(1) m 2)m+1

(3) 2m (4)2m + 1

Ife 65 3R 117 BT HCF 65m-117 & w7 § dd fhaT
ST bl © A m T 919 BRI |

(4 )2

31 @3

afe F&wr (a-b)x* +(b-c)x+(c-a)=0
E GICNCNESI]

(1) 2b=a+c @) 2a=b+c

() 2c=a+b (4) 374 9 313 =&l

Teh AT B3RSt a1 @l 3./5 A B | A |aw BId
HSIT BT 3 AT B QAT SR 3R G 9T Bl AT P
foam SRy o 71T &l 15 I B, 9T o Bl g

side- EIGECN
(1) 6 cm (2) 9 cm (1) 6 ¥ (2) 9 I/
(3) 5cm 4) 10 cm (3) 5 4) 10
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 2
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09.

10.

PRINCE OLYMPIAD EXAMINATION
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Which of the following time expressions is right for the

fraction — ?
4

(1) 15 minute
(3) 45 minute

If f(x) =ax’ +bx+c such that the graph of f(x)

(2) 30 minute
(4) 10 minute

will opens downwards then value of a must be :
(1) Positive (2) Negative
(3) Not be determined (4) None of these

I09. g & 9 P9 9y @vle % P forv w2 21

10.

(1) 15 fide
(3) 45 fide
F(x)=ax’ +bx+c & UG 2 B AR GAT & W a
HI A BRI :
(1) e9=HAD
(3) ST & foban ST Hebar

(2) 30 fA e
(4) 10 e

(2) UMD

(4) 399 | BI TE

I
I
I
I
I
I
I
I
I
11. Tn AABC.if AB= AC&BD L AC then I 11. afe B ABC § AB= AC&BD L AC @
(1) BC?* =A4C+CD () BC? =4C*+CD* | (1) BC?* =A4C+CD () BC? = AC* +CD?
() BC*=BD*+CD* () BC*=24C*+CD’ I () BC*=BD*+CD* () BC*=24C*+CD’
12. Zeroes of a polynomial p(x) can be expressed | 12. Ifd §gu« p(x) & HAl B U6 | IId B ©
graphically. Number of zeroes of polynomial is equal to | TEUS @ HAl Bl AT I [d-g3ll Bl WA & I_IeR
number of points where the graph of polynomial: | gRfT foree fa=g T R —
(1) Intersects x-axis | (1) x—37eT R gfese & B |
(2) Intersects y-axis I (2) y—318T R gfess & B |
(3) Intersects y-axis or x-axis | (3) y—3%T AT x—30eT R Ufes el &
(4) None of the above | (4) SIRRH # | BIg a8
13. A polynomial of degree n has: | 13. Pife narat dgu< H BRI |
(1) Only one zero (2) At least n zeroes : (1) ®ad Uh NG (2) H ¥ BF n NG
(3) More than n zeroes (4) At most n zeroes | (3) n ¥ 31ferd NG (4) 3MEHTH n NG
14. The number of polynomials having zeroes as -2 and 3 is: | 14. TP -2 3iR 5 dTel E@Qﬁ & HET BRI |
(H1 22 I (H1 22
(3)3 (4) More than 3 I (3)3 (4) 3 9 ST
15. Zeroes of p(x)=x’-27 are: |15, p(x)=x"-27 & M@ 8|
(1) 043 @ 3.3 BENUEEN: @ 3.3
(3) +73 (4) None of the above I (3) +73 (4) 379 | ®IE T
|
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 3
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16.

17.

18.

19.

PRINCE OLYMPIAD EXAMINATION
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In ApEF shown in given fig. points A, B and C are

taken on DE, DF and EF respectively, such that EC=AC |

and CF=BC if angle D=4(°, then what is angle ACB in
degrees?

D
A
B
E ¢ F
(1) 140° () 70°
(3) 100° (4) None of these

If AABC ~ APQOR ., perimeter of AABC = 45cm,
perimeter of APOR = 60cm & PR = 16c¢m then AC

equal to
(1) 10cm (2) 9cm
(3) 12cm (4) 18cm

For expression f(x) =X +ax’ +bx+c if

J()=f(2)=0 & f(4) =1(0) then values of a.b & ¢
are

() a=-9,b=20,c=-12

2) a=-8,b6=20,c=-12
3)a=9,b=-20,c=-12

4) a=-8b=-20,c=12

Ifk is any non zero constant, then the polynomial whose
zeroes are -1 & -2 1s :

(1) k(x> +3x-2) @) k(x> -3x+2)

(3) k(x* +3x+2) @) k(x* ~3x-2)

16. =¥ Appp SR TATE | 05 A, B 8iR C &I 3@l

%A DE, DF @ EF W 39 UeR forar oar & f&
EC=AC 3R CF=BC ©13fT /D =40° 8 ~ACB
BT |

D
A
B
E c F
(1) 140° (2) 70°
(3) 100° (4) ST 9§ PIS T8I

17. A& AABC ~ APQOR , 9RAM A4BC = 45 ¥R/, 4RHAY

APOR = 60 91 3R PR = 16 I & @I AC SRR
2

(1) 10 S+
(3) 12 3+

(2) 9 T
(4) 18 I+

18. FHIHRUT f(x):x3+ax2+bx+c gfe & fav

f()=f(2)=0& f(4)=1(0) AMa,b3ARcH AM

(1) a=-9,5=20,c=-12
Q) a=-8,b=20,c=-12
G3) a=9,b=-20,c=-12
@) a=-8,b=-20,c=12

19. S k I IR I 3R ©, A1 98 9gU< & [STHD YD

—1 3R —2%

(1) k(x> +3x-2) @) k(x> -3x+2)

(3) k(x* +3x+2) @) k(x* ~3x-2)

Space for Rough Work

PCP, Sikar
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20.

21.

21.

www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
. . | .
For real y, the number of solutions of the equation | 20. aredfae weEr y & forg aeor \/y? + \/; -1 3
Jy+3+4fy =lis- | el e
(o @1 | (o 2 1
(3)2 (4) 4 | (3)2 (4) 4
|

22.

The sum of the reciprocals of Rehman's ages 3 years

ago and 5 years from now is 3 The present age of

Rehman is:
17 10
(3)5 )6

A train travels 360 km at a uniform speed. If the speed

had been 5 km/h more, it would have taken 1 hour less

for the same journey. Find the speed of the train.

REHM 61 3 IV Yd I 5 Y a4 DI 311G, &b YhH! BT AN

% g a1 TEAE @ THA MY ST B

(7
35
Th YelTel UHHAE T 3 360 b gerdt &1 afe
I®T T 5 /62 i Bicl o S 16T T HF
SATAT | XIS @ Wi F7d B |

@) 10
46

22.

I
I
I
I
I
I
I
I
I
I
(1) 30 km/hr (2) 40 km/hr I (1) 30fdHT /der (2) 40fdHHT /der
(3) 50 km/hr (4) 60 km/hr | (3) 50fdHT /der (4) e0fdHI /deT
23. If one root of equation 4y’ _2x+k—4=0 1s I 23. AR FWEROT 432 —2x+k—4 =0 BT UD qT T Bl
reciprocal of the other. The value of k is: | shd & Al k BT A SITd B |
(1)-8 (2)8 | (1)-8 (2)8
(-4 (4) 4 I (3 -4 (4) 4
I
24. The value of |[7,/747 | 24. &1 A g
I
(7 | Q@) 7
3) 3 I ) 2
25. The value of expression I . 1 B 3 B 4
| 3 4 2T 1230 7210 (Baas T
J11-2430 7-2J10 8+43 ' : Bl
M) 30 @) Ji0 | (D B0 2 V10
OF @ 0 o ® 90
I
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 5
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26.

27.

28.

29.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

In figure XY is parallel to AC. If XY divides the triangle I

i 1 hen the val fA—X_
mto equal parts, then the value o AB
B
X Y
A C
! 1
(1) 2 (2) N
. J2+1 \ V2-1
3) NG “) NE)

If pgr =1, then the value of

1 1 1
Tt Tt -1
I+ p+g I+qg+r I+r+p

(1) o (2) —rq
(3) 1 4) pq
if x =416+ /625 than what is x -
(1) 7 () 29
(3) 12 “) 3

A farmer divides his herd of x cows among his 4 son's |
such that first son gets one-half of the herd, the second |

1
son gets one fourth, the third son gets — th part and the |

26.

27.

28.

29.

T 3RS ABC ¥ XY 39 YR & b 98 AC & FHI=<R

2 9 S $I QT IRIER A H diedl & %Eﬂ‘:ﬂ:{
SR

B

X Y
A C

! 1
O 2 NG

V2 +1 V21
3 NG 4 NE)
Al pgr =18 @

1 4 1 4 1

1+ p+q” l1+g+r" 14+r+p” T AT BT
1o (2) —pq
31 @ rqg (2
ISy = 316 + 6258 AN x BT A BRI |
1) 7 ) 29
3) 12 4) 5

[T x AT & $[US Bl 39 4 TAT H 39 YHR diedl
2 &b UBAT IF S[US &I ST AN, SERT YF U deTs

AT, IRT O %mﬂwaaﬁmgﬁﬂnﬁww%‘,

5
I
fourth son gets 7 cows, then the value of x is- | Tl x BT A AT B |
(1) 100 (2) 140 I (1) 100 (2) 140
(3) 160 ) 180 l (3) 160 (4) 180
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 6
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31.

www.princeeduhub.com || priNcE oLympiaD ExaMinaTion | o PcP i
. 1 1 1 24 | 1 1 1 24
if 2* =47 =g and EJFEJF@_T’ then the | 30. AT o — 4¥ —g° 3R EJFEJFQ_T Pl
value of z 1s - o= BRTT |
L 2 L L 2 L
M T @ 33 M T @ 3
. o . o
) 75 S ) 75 S
In fig., AD : DC=2:3, then /4B is equal to- 31. T # AD:DC=2:38 @l ZABC BRI |
A A
QC’Q N QC’Q N
N 130° N 130°
30° c 30° c

B 15 cm B 15 cm
(1) 30° (2) 40° (1) 30° (2) 40°
(3) 45° 4) 110° (3) 45° 4) 110°
In figure 4B | BC.BD 1 AC and CE bisect £C |32 afe R % AB 1L BC.BD 1 AC 9 CE. £C @

32.

if /4 =30°,then whatis /CED =2

wafgfomfora axar g1 afs 24 =30°8 @ CED
BT |

A A
F D F D
B C B C
(1) 30° (2) 60° (1) 30° (2) 60°
(3) 45° 4 65° (3) 45° (4) 65°
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 7
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33.

34.

35.

PRINCE OLYMPIAD EXAMINATION
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If a,f are the zeroes of the polynomial I 33. Afe o, B gue F)=x*—plx+)—c a%‘i?’[%?ﬁ

f(x)=x>— p(x+1)—c then (@ +1)(B+1) is equal |
to -

() I+c¢
3 c

If one of the zero of quadratic polynomial y2 4+ 3x 4+

2)c-1
“4) 1-¢

I

I

I

I

is 2, then value of k is |
(1) 10 ) -10 |
OF -5 |
If p(x) is a polynomial of degree one and p(a) = 0, |
then a is said to be: |
I

I

I

|

(@ +1)([+1) BT AE 8RO

() I+c¢ 2)c-1

3) ¢ @ 1-c¢

I 91T 98U< 5% 4 3x+ 4 PTUD YR 28, Wk
&AM B

(1) 10 ) —10

3) 5 (4) =5

IR p(x)wF P T ague 89 p(a)=0 &M a B

(1) Zero of p(x) (2) Value of p(x) (1) p(x) &1 gEid () p(x) &1 a9
(3) Constant of p(x) (4) None of the above 3) p(x)Eb‘r ReRids (4) =78 I P TE
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 8
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PRINCE OLYMPIAD EXAMINATION
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E(SCIENCE jE

36. Correct relation between radius of curvature (R) and | 36.

37.

Focal length (F) of spherical mirror is

F
R="_
(m) R==

G) R=

@ R=F

@ R=(FY
A student conducts an activity using a flask of height

15cm and a concave mirror. He finds that the image
formed is 45cm in height. What is the magnification of

37.

MATBR YT P dehal AT (R) 3R Bidha @ars (F
& 4/ HEl HaY

F

R=_

(1) 5
3) rR=

U BT 15 T TS & U TR 3R U 1dclel U

BT ST PRb U AR AT BT & 1 U

g fb g Bfd B Sars 45 W 2| Bfd BT amaEA

@) R=F

@ R=(FY

I
I
I
I
I
I
I
I
the image? I T 87
1 I 1
(1) -9 times 2) 'gtimes | (1) —9 IR 2) -§€|'IT<'
» | L
3) 3 times (4) 3 times | 3) EEIW (4) 3 dR
38. CuSO, +Zn — ZnSO, +Cu | 38. CusO, + Zn — ZnSO, +Cu
Correct statement related to the above reaction is - I SR Affshar & Heferd gl & § —
(1) Zn is less reactive as compared to Cu | (1) Cu &1 LEEL # Zn &4 wfafhareia 8
(2) Zn is more reactive as compared to Cu | (2) Cu &1 SR # Zn 31fe ufafharshiar &
(3) Reactivity of Cu and Zn is equal I (3) Cu 3R Zn &' ufafshareiedr sveR &
(4) Zn is displaced by Cu : (4) Zn Cu gRT faxenfud 8T ©
39. How much filtrate passes through tubular part of | 39 BT & SREAR ART U AfAfe foaar i Joirar 8—
nephrons daily- |
(1) 200 litre (2) 180 litre I (1) 200 &lex (2) 180 @ilex
(3) 280 litre (&) 80 litre | (3) 280 fiex (4) 80 e
40. The excretory product in plants store in old xylem is - I 40. IR SISAH | UlEl & 9USR H IId SIS & —
(1) Carbon dioxide | (1) ®EA SEifIES
(2) Gum | (2) 7T
(3) Resins I (3)
(4) Both (2) and (3) l (4) TFI (2) 3R (3)
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 9
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41.
42.
43.

44.

45.

PRINCE OLYMPIAD EXAMINATION
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Which one of the following does not contain any enzyme.
(1) Saliva (2) Gastric Juice

(3) Bile Juice (4) Pancreatic Juice
Example of Fat digesting enzyme is

(1) Amylase (2) Pepsin

(3) Lipase (4) Nucleases
Power of the lens is —40 D, its focal length is
(1) 4m (2) -40m
(3)-0.025m (4) -25m

Two thin lenses of focal length f, and £, are in contact
and are coaxial. The combination is equivalent to a single
lens of power

Nts Lt/
Oy @ 7

Lt/ 2
Ol @ 77

The refractive index of medium B with respect to medium
A in the given figure is given by

Medium B

45°

609

Medium A

| 41.
I
42.
43.
4.

4

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| 45.
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|

frforRad & 9 foad oig domsH =81 sidr 87

(1) @R ) Mg 5@

(3) U %= (4) MR 3™
T G dTel UwolTgH &1 S8 0 &

(1) THISS (2) afea

(3) ITEUS (4) ~gfdetsrs

o @ Wb 40 D B, $9®] Bidhd oddlg o
(1) 4 AR (2) —40 Hex

(3) —0.025 HIex (4) —25 HIex

Bibd ddrg f, 3R £, & I Udel o< 399 H Hua §
g iR waRey € | I8 HaIoA 9Ifth Vel of T @l wifad
PRI B

Nts Lt/
Oy @ “7

Lt/ 2
Ol @ 77

feu v fo & wrew A & ArdeT Aeg B T 3Uddih
9 TR fear mar g —

Medium B

45°

609

Medium A

V2 ! V2 1
(D NG @) 73 (D NG @) 73
V3 1 V3 1
3) > “4) NG 3) > “4) NG
Space for Rough Work
PCP, sikar Class : X/P-6 I IIT-JEE | NEET | OLYMPIADS 10
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46.

47.

48.

49.

50.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Copper sulphate can be safely kept in a container made
up of |
(1) Aluminum (2) Lead

(3) Silver (4) Zinc

In the reaction: 3MnQO, +4A4l —3Mn+2AL,0, the
oxidising agent is

(1) MnO, (2) Al

(3) AL0, (4) Mn

Guard cells are capable of photosynthesis because they
have

(1) Cytoplasm, nucleus, centrioles

(2) Cytoplasm, nucleus, centrosome

(3) Cytoplasm, nucleus, chloroplasts

(4) Cytoplasm, nucleus, chromosomes

Glucose is mainly reabsorbed in which part of the
nephron?

(1) long tubular part

(2) Bowman's capsule

(3) Glomerulus

(4) Collecting duct

It does not have a mouth for ingestion of food It ingests |

the food by encircling it and forming pseudopodia. When |
I

form of a bag called a food vacuole. The excess food |

the food is completely encircled, it is engulfed in the

absorbed is stored in the form of glycogen and lipids. |
The undigested food gets collected in the food vacuole |
and is thrown out of the body by rupturing the cell I
membrane. Identify the organism. |
(2) Amoeba |

I

|

46.

47.

48.

49.

50.

PIIR FAbe DI (A a1 g H YR ®Y | @I Sl
HehdT 87

(1) vegfafram (2) ¥

(3) A (4) ST

afvfpar  3MnO, +4A41 —>3Mn+24L,0, &
SifafieeT Tofle §

(1) MnO, 2) Al

(3) ALO; 4) Mn

T BIABIV UBTI HIATOT # FeTH BT & Fifh S
B

(1) AT, fdaad, Hgied

(2) ATECIATSH, Brsd, NI

(3) ATSCIATH, Bsich, FARIATRE

(4) AIECTH, BEd, O

TefepIST YA ~IhiT & Tt 1T H Y Srarenfyd sier 87

(1) oI AABTHR |

(2) I A

(3) TR

(4) FUB AAfeThT

SHH | BT - & ol g 81 BIAT & | IS Ao
DI OB RSS! AT TG & | AL ATARTH AT
TATSdIo 3R forfie & wu # HUia 811 21 3T
Ao Ao RGBT # Udha 81 ST © 3R BIRIdT
fTeefl I Aled? INR ¥ dr8x ara f&am S g1 Sia
CARECIE]

(1) Chlamydomonas (1) TS SAET (2) 3r¥ET
(3) Hydra (4) Sea anemone (3) BISwI (4) FHET T
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS )
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51.

52.

53.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The endoskeleton and exoskeleton of various animals | 51. ffi=T g3l & ADHBIA qAT diebbld bl (i

are formed from this. This is incorporated into life forms |
through the basic process of photosynthesis, which is |
performed in the presence of sunlight by all life-forms |
that contain chlorophyll. This molecule's cycle process I
converts itself from the atmosphere or dissolved in water
into glucose molecules. Name the molecule.

(1) Nitrogen (2) Carbon

(3) Water (4) Nitrate

in a dark room for 3 days, they were placed in separate

glass plates and a watch-glass containing potassium

hydroxide was placed by the side of Plant. Both the |
plants were covered with separate bell jars. Vaseline |
was used to seal the bottom of the jars and were set-up I
airtight. Both the plants were kept in sunlight for 2 hours. |
Leaves were plucked from each plant and checked for

the presence of starch. Due to the non-availability of |
which of the following components, photosynthesis did |
not occur in plant A? I
(1) Water (2) Carbon dioxide I
(3) Chlorophyll (4) Starch |

Diverse organisms use different ways to break-down | 53.

glucose completely into carbon dioxide and water. |
Sometimes when there is a lack of oxygen in our muscle |
cells, another pathway for the break-down of pyruvate
is taken. Here, the pyruvate is converted into the lactic
acid which is a

I
I
I
I
(1) Six-carbon molecule |
(2) Two-carbon molecule I
(3) Three-carbon molecule I

(4) Five-carbon molecule

I
I
I
I
I
Two healthy potted plants A and B were taken and kept I 52
I
I

=i W BT B | S U AN B e Hfshar & W
IH A Sflaq wai # e faar Sar 8, S daRifthd
Ih AT SHaI—wdl §RT A & UabTel dl SuReIfy 4
T SITAT © | 39 319 &7 Tsh Ulshar T 1 argHeSd o
1 T # gAd) ool it # gRafdd & <o 7|

3] T A 183
(1) TSI (2) Pr
(3) Ui (4) TEge

ST IR T dTel UleT A iR B forv 17 8fik S8 3 faAt
% oIy U 3R B H @1 T, S5 A3 Hbid
DI el H @I AT 3R UICRIH giEsiadgs b Uh
IR B U & fHAR a1 a1 <A1 drerf Bl
T3 def SR ¥ Sl AT | OR & et 2= &l
At B B FoTU Tl o1 SUART fhar mam o ik 32
JRRIET SR AT o7 | G UEl Bl 2 6 d9d gy H
T ATy A A gREt 9 8 ek wrd @
Suferfa o Sifd &1 78 | f=forRad # & fod gca @t
ST & HIRVT Ul AW HhIeT Helvo g1 gaire

(1) et (2) ®E STRifIES

(3) FARIB (4) T

fafder Sita TS Bl Q& AvE U Bl SIS3FAES 3R
9 7 dred @ forv faf el &1 SuET wxd €
HHI—FH S1d TN AR @7 BIfRTwmRI # ffaiIor
@ B BT B, AT UISHAC & ge @ TolT TERT KT
YT SITAT & | Igl, UIshde dided URre # gRafdd
B 7T & Gl s @

(1) BB—aTe A

(2) fg—apre 31

(3) T—FIe 37

(4) drE—ara 3
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54.

55.

56.

57.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which of the following gas makes up 78% of our I 54. FrefaRed 6 9 $I9 A 99 89X argHsSd & 78%

atmosphere and it is also a part of many molecules |
essential to life like proteins, nucleic acids and some

vitamins?
(1) Nitrogen (2) Carbon
(3) Oxygen (4) Argon

What is incorrect about the electrolysis of water

(1) clectrodes are made of graphite

(2) At anode gas is collected double than at cathode
(3) At cathode gas is collected double than at anode

I
I
I
I
I
I
I
I
I
I
(4) Few drops of dilute H,SO, is added to increases the I
conductivity of water |
Read the following statements regarding the function of |
Lymph in transportation within the human body and |
choose the CORRECT option:. |
(1) It carries the blood away from the heart to various I
organs of the body and it ensures that the blood flows |
only in one direction |

(2) It is divided into smaller vessels to bring blood in |
contact with all the individual cells |

(3) It circulates around the body and helps to clot the |
blood during the time of injury :

(4) It carries digested and absorbed fat from the intestine |
and drains excess fluid from extracellular space back |
into the blood I
Plants also require nutrients for growth and development. |
Which of the following nutrients is used by plants
from air after converting into compounds by

55.

56.

57.

EEAT g1l © 3IR U8 Siae & [ofu 3Taead & Ul
ST IS, =Jfadtad Tiire sl o faeTfim &1« fewar
&

(1) rEgIoiA (2) 1A
(3) Sifa=io= (4) 3=
U & SlaSIfeTRIT & R | T Tad 8°

(1) SIS YHISC | 9 8id &

(2) TS W I BT & T § IR Ui Bill &

(3) BATS W TAIS BI A H ST 9 Tebl Bl STl
®

(4) T BT AlefDbal g3 & forg 7 H,SO, &1 B §<
STl STl §

AT IR & R yRae § TdIdb & BRI & dee 4§

freferfad der ud 3k WEl fadbed oH:

(1) I8 T Bl g ¥ IRR & A= 3T T of SIrar
2 3R I YRRd val & fd b dact Ua 81 fasn
LICH)

(2) B BT T ARBITT BIRGRT & Fud § aF &
forv 3 I aifgdel # fawfora fear i &
(3) I% IR & TR AR GAAT & AR AIc & 9T Th BT

JFhT STAM H AGE Hdl &

(4) IT 3Nd | Ul g3 3R AT ™ &I of A1 &
3R 3rfReh avat yared &l 91 FIf@ = 9
I Wh H marfed dar 8

gl B W gfg ok oo™t & fou dwe a@l @

agghar sicl & | fFreforRad § & &9 a1 uivd ac

Gexoidl gRT AIffTel ¥ gRafdd 8 & 418 g1 o

microorganism? gl gRT SUART faham ST 87
(1) Nitrogen (2) Argon (1) AISgIoH (2) W=
(3) Helium (4) Oxygen | (3) Bifera™ (4) Sifa=io=
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 13
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58. Inorder to obtain a magnification of -0.6 with a concave | 58. 37aded UY | —0.6 BT AT UK DR B 1T, TR Bl
mirror, the object must be placed:- I T ST AMBTH—
(1) At the focus | (1) BB W
(2) between pole and focus | (2) gd 3R Bl & dra
(3) Between focus and centre of curvature | (3) BIHY AR Ihdl Dg & dId
(4) Beyond the centre of curvature : (4) Thdl g T W
59. Focal length of thin lens is given by: | 59. Udcl o &I Bidhd ddly 1+ §RT &I STl &
1 11 I 1 11
Ul L 0FTTy
Q2) f=u+v | Q2) f=u+v
I
f_1 1 f
O3 7w 97
wlolil | iolil
f v ou | S
60. Which of the following shows an oxidation reactions? | 60. fr=forRaa & & &9 afferfiexor ufafhar geriar 87
(1) Gain of oxygen | (1) TSI BT Uit
(2) Loss of oxygen I (2) SIS BT BT
(3) Gain of hydrogen | (3) BISgIod &I wiftq
(4) None of the above | (4) SIRRH § | By T8
61. Fatty foods become rancid due to process of l 61. THRD Ao fhaad! gishar & BHRUT G781 S 57
(1) Oxidation (2) Corrosion : (1) SiTaRTIBHoT (2) TR
(3) Reduction (4) Hydrogenation | (3) Ao (4) BISSISTIRROT
62. Which of the following are physical changes? | 62. fy=ferRaa # & -1 #ifae aRads 87
(A) Melting of iron metal | (A) dlg rq b1 foeret=
(B) Rusting of iron I (B) <l UR ST ¥ AT
(C) Bending of an iron rod | (C) B BT B FHI FH1
(D) Drawing a wire of iron metal | (D) <@g @t INECEGIN LCICRIl
(LA, B&C 2Q)A,B&D | (H)AB&C 2) ALB&D
B3)A, C&D @B, C&D I 3)AC&D 4 B.C&D
Space for IRough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 14
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63.

64.

65.

66.

67.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

A chemical equation is said to be balanced if the number
of

(1) Compounds are the same on both sides.

(2) Molecules are the same on both sides.

(3) Number of atoms are the same on both sides.

(4) Number of ¢lectrons are the same on both sides.
Write values of a, b and ¢ so that the following chemical
equation is balance

aH, +b0, — cH,0O

(1)a=2,b=1, c=2

(2)a=1,b=1, c=2

(3)a=1,b=2, c=1

(4)a=2,b=2, c=1

What happen when lead nitrate reacts with Potassium
iodide.

(1) They will not react

(3) Yellow precipitate of lead iodide will be produced
(4) Evalution of gas will occur

Which of the following reaction is used in black and
white photography?

(1) Combination reaction

(2) Decomposition reaction

(3) Displacement reaction

(4) Oxidation reaction

The chemical formula of magnesium oxide is

(1) MgO,

(2) Mg, 0

(3) MgO

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
(2) A large amount of hydrogen will be released I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
(4) Mg(OH), I
I

I

63.

64.

65.

66.

67.

U ARG FHIDHROT DI HdfeTd BBl STl & i @l
=T

(1) AR AT TR® 1 B |

(2) 3] ST B T B B |

(3) TFT TG URATLSI T HE&AT HH B |

(4) THI B Felde il Bl TRAT FHE B |

a, b 3R ¢ & A foRay aifes Fr=faRaad e
THIHROT Hford 81 (4)

aH, +b0, — cH.0

(1) a=2,b=1, c=2

(2) a=1,b=1,c=2

(3) a=1,b=2, c=1

(4) a=2,b=2, c=1

T BIAT & Od ofs Aggc UeRRHA ieEs & el
gfafehar Har 87

(1) 7 &I ufafbar 7Et <

(2) 91 911 ¥ RS Ml

(3) o< IMATSISS &1 YTl TRy ScTfad fham Siem
(4) 9 &1 Fedied BRM

fferRaa # & fba ufafear &1 SuanT wOa—vam™
BICRTHT # fhar Sirar 87

(1) o ufafesar

(2) 3mae ufafshar

(3) faemy=r ufafosan

(4) 3o ufafsban

FRRW Jifaags & G 93 8

(1) MgO,

(2) Mg ,0

(3) MgO

(4) Mg(OH),

Space for Rough Work
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68.

69.

70.

PRINCE OLYMPIAD EXAMINATION

Synthesis of Bile Juice takes place in which of the
following parts of Body?

(1) Gall Bladder

(2) Liver

(3) Nephron

(4) Hypothalamus

One of the following processes does not involve a
chemical reaction, that is:-

(1) Melting of candle wax when heated

(2) Burning of candle wax when heated

(3) Digestion of food in your stomach

(4) Ripening of banana

Which of the following is not a part of spherical mirror:-
(1) Pole

(2) Centre of curvature

(3) Both (1) and (2)

(4) None of these

P 2pcr N
| 68. e <=1 @1 Tveryor w¥R & FreAferRae & < foey AT 4
Blar 7
(1) fu=mera
(2) a%
(3) “IBT
(4) BTEUIHA

69.

70.

fferRaa ufdramsit # & b v # Iamf=e ufafshar
A T8l &, 98 56—

(1) TH B IR A& & A BT e

(2) TH B TR HAHGH D AN BT STAAT

(3) 3MId YT # IS+ &I gred

(4) et BT BT

frforRad # I B9 MATHR YT BT AN 8] 8-
(1) g4

(2) ThaT Ds

(3) &I (1) 3R (2)

(4) T 9| Bl T8

Space for Rough Work
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. Who founded an army of volunteers called 'Red Shirts' | 71. gl § VS Uy MG 3G Hadb! Bl T BRI

72.

73.

74.

75.

76.

in Italy?

(1) Otto von Bismarck
(2) Giuseppe Mazzini
(3) Metternich

(4) Giuseppe Garibaldi
Who said that Mazzini was the most dangerous enemy
of their social order?

(1) King of the Netherlands

(2) Giuseppe Mazzini

(3) Duke Metternich

(4) Otto von Bismarck

The Non-cooperation Khilafat program was adopted at
which congress session?
(1) Bombay

(3) Karachi

(2) Nagpur
(4) Calcutta

When was the Project Tiger launched?
(1) 1970 (2) 1971
(3) 1972 (4)1973

In which one of the following states is Manas tiger
reserve located?

(1) Kerala

(2) Chhattisgarh

(3) Assam

(4) West Bengal
With which of the following countries does Belgium not
share its boundary?
(1) Germany

(3) Netherlands

(2) France
(4) Italy

72.

73.

74.

75.

free @r?

(1) 3fer i+ fars

(2) g AT

(3) Aexf=g

(4) Y IReTeS!

fra wal fob AT ST AT JIaRen &l dead
LTRATh g T?

(1) ¥TeRets &1

(2) g AT

(3) SYP HexfTE

(4) 3ier i+ fawrs

IRTEANT RIThd HrRIhH b BT RIS # o=
T oAqT?

(1) o (2) TR
(3) R (4) HAB
Alolge TR &d Yo 16T T o1?
(1) 1970 (2) 1971

(3) 1972 (4) 1973

frferRad & 3 fbd =g o 999 919 SRy Rerd
g7

(1) DA

(2) BIIT@

(3) 3rEH

(4) 9f¥e™ ST

76. dfosrm f=ferRag & 9 fbw < & wmer sru=r W

TSI 8] el 87?7
(1) ST
(3) Texets

(2) W

(4) el
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77. Which one of the following countries is not a coming | 77. FfaRad § 9 $IF A1 <9 UH A1 37 drelT | 81
together federation? I g7
(1) Switzerland | (1) Racorets
() India | ) IR
3)USA | (3) AT NI5Y RSB
(4) Australia : (4) sirgferan
78. A person is considered overweight if his Body Mass | 78. I BT ARh PI dIS] A SSa 4 ... 3 3rfere & qr
Index is more than................. | S 3O g drelT AT Sl © |
(115 (2)22 I (1) 15 (2) 22
(3) 25 @21 | 3) 25 &) 21
79. MGNREGA guarantees job to poor for... ..... I 79. WA RGBT . e T TRET AT & |
(1) 150 days (2) 90 days | (1) 150 T (2) 90 f&q
(3) 100 days (4) 200 days | (3) 100 &= (4) 200 &
80. Which forests and wastelands belong to both | 80. B | STet 31k ok 9 TR T IR—ARBRT ST
governmental and non-governmental communities? l ﬂﬂﬂ?ﬁ & 87
(1) Protected forests I (1) =T o=
(2) Reserved forests | (2) 3IRETT a9
(3) Unclassed forests | (3) 3t a4
(4) Tropical forests l (4) SWTHCIENT a7
Space for Rough Work
PCP sikar Class : X/P-6 I IT-JEE | NEET | OLYMPIADS 18
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82.

83.

84.

85.

86.

87.

Sometimes political parties have problems in presenting

united front.

(HA (2) An

(3) The (4) Some

You should try to..........at the meeting before 10.00.
(1) Arrive (2) Enter

(3) Get (4) Reach

That was ........... interview I've ever had.
(1) The most difficult

(2) Most difficult

(3) The more difficult

(4) More difficult

My car has ............ | must get a mechanic.

(1) Out of order
(3) Broken down

(2) Gone off
(4) In a crash

You haven't ........... many mistakes.

(1) Made (2) Make

(3) Done (4) Put

Money is very important to ............ people.
(1) Most of (2) Most

(3) Many (4) The most

Meera said, "It's time. I must go now."

(1) Meera said that it is time and she should leave.
(2) Meera said that it was time and she had to go then.
(3) Meera said that it was time to go then.

(4) Meera said it is time and she may go.

88.

89.

90.

Tim said, "I may teach you if you will show sincerity."

(1) Tim said that he might teach me if I would show
sincerity.

(2) Tim said that he may teach me at a condition.

(3) Tim said that he could teach me had I shown
sincerity.

(4) Tim said that he will teach me if I was to show
sincerity.

He said, "Guard the door."

(1) He pleaded with me to guard the door.

(2) He asked if I could guard the door.

(3) He enquired whether I may guard the door.

(4) He commanded me to guard the door.

Harish said, "Will you accompany me there?"

(1) Harish asked me if I would accompany him there.

(2) Harish asked if I could accompany him there.

(3) Harish enquired whether I will accompany him there.

(4) Harish said to me that I accompany him there.
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92.

93.

94.

95.

If in a certain code, SWITCH is written as TVISDG, | 91.

then the code CQFZE is used for which word ?

(1) BARED (2) DKGYE
(3) DPGYF (4) BRADE
If A=26, SUN=27 then CAT=?
(1)24 (2)27
(3)57 (4) 58

Choose the next term in the given series.
13,40,122,369.?
(D 1110 @ 1111
3) 1112 @113
A bus leaves Delhi with half the number of women as
men. At Meerut, ten men get down and five women get
in. Now there are equal number of men and women.
How many passengers boarded the bus initially at
Delhi ?
(1)36 )15
(3)45 4) 30
Arrange the given words in the sequence in which they
occur in the dictionary.

Herbivorous

Harmony

1
2
3. House
4
3.

92.

93.

94.

95.

afe fsdr ¥ wrs § SWITCH &1 TVISDG ferar
ST & o CQFZE TS T WA fhsy vre & forv fasam
ST 87

(1) BARED (2) DKGYE
(3) DPGYF (4) BRADE
afe A=26, SUN=27 dI CAT=?

(1) 24 Q) 27

(3) 57 (4) 58

41 TS ST H IFTAT UL G |
13,40,122,369,7

(1) 1110 (2) 1111

(3) 1112 4) 1113

T FF IO DI AT H ST AT H ARARI BT AP
facell | AT BIell & | #%0 ¥, S YoV Iad o 3iR Ul
Afan sfe IRl €1 o9 8! goui ok Afdersit &
T RIER & | R4 4 [eell | fbael amh 99 4 ag?

(1) 36 (2) 15

(3) 45 (4) 30

QU Y wrec] ol ST B9 | aRerd o o8 &9 H
NCCINR RSN

1. Herbivorous
2. Harmony

3. House
4

3.

Honour Honour
Helm Helm
(1) 12543 (2) 25143 (1) 12543 (2) 25143
(3)21534 (4) 12354 (3)21534 (4) 12354
Space for Rough Work
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96. Which letter is seventh to the right of the eighteenth | 96. TUMTAT & IV BIR | ONEd &R & <14 3R | Aradi
letter from the right end of the alphabet ? | 3IeTR I 9T &7
(HK 20 (HK 20
3P 4R 3P 4R

97. QU ¢ Il &1 HEl HIgRd I

97. Choose correct word analogy of given word:
Election : Manifesto : : Meeting : ?

Election : Manifesto : : Meeting : ?
(1) Circular (2) Agenda

(1) Circular (2) Agenda
(3) Preface (4) Report
98. Rohit walks 100 m. to the East from point A, then turns

(3) Preface (4) Report

98. RIfed fdg AW gd &l 3R 100 Wex Tl &, R Y
T & 3MR 100 #ex Ferdm 8, v < ear € 3ik
20 HIeR Ferel © | fhy a1 gedl © 3R 250 Alex @rerdn
g 3R fdg BUR Ugd 1| A 3R B & §la =79 g

right and walks 100 m., again turns right and walks 20
m. Again turns right and walks 250 m. and reached at
point B. Find shortest distance between A and B?

|
|
|
|
|
|
|
|
|
|
|
|
|
| S| e
(1) 75 m. (2) 180 m. I (1) 75 Hiex (2) 180 Hrex
(3) 170 m. (4) 200 m. I (3) 170 Hiex (4) 200 Hiex
99. Sclect the diagram which best illustrates the relationship | 99- S¥ 3INRG BT 2RI BN il e, UTeA], SITTeR| TR SR
between dogs, pets, and animals. | D I G Pl TG ST AT © |
|
|
(1) 2) Q | (1) 2)
|
\ VAN \ VAN
3((C))C) 4 b)) 1 e C))0) 4 ) ) ()
()K\:;,‘\—’ @ ( LS NS | ()K.\;:;r‘v @ ( LS NS
100. From the four positions of a dice given below, find the | 100. = <7 IS U &1 IR Rerfaal # 9 98 [T A1 BT
color which is opposite to yellow? I S et 97 & faudia &°
Yellow Orang Blue Red | Yellow Orang Blue Red
E E E 3 | E E E 3
Orange| @/ | violet | © Red | 32) | Rose [ £ | Orange| @/ | violet | © Red |3£) | Rose | &
|
(1) Violet (2) Red I (1) Violet (2) Red
(3) Rose (4) Blue | (3) Rose (4) Blue
|

Space for Rough Work
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